28/06/2016 College Lecturer Exam - Economics-II

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Economics-II Time: 3 Hours

Ques # :1

Faster, More inclusive and sustainable growth are objectives of which plan of India?
1) 10th Five Year Plan

2) 11th Five Year Plan

3) 12th Five Year Plan

4) None of these

fore SR AT & 32827 3 o, 3rftre w3k e afy &2
D) 108t derasifar grete

2) 118} Jeras Grere

3) 124t gaadty g

4) goTar Q IS o7

Ques # :2

Which of the following is not related to Pradhan Mantri Jan-Dhan Yojana:
1) Interest on deposits

2) Overdraft facility upto Rs. 10,000.

3) Accident Insurance Cover

4) Life Insurance Cover

fArfaf@d & ¥ Faer graea TureTa= Fd-4 T & 781 8:
1) SrAm3ft o s

2) 10,000 & A T 3R FTFe G

3) geeaT AT Fa|

4) SirersT AT e

Ques # :3

Choose the correct answer:
1) Poverty escalation leads to environmental degradation.
2) Environmental degradation leads to poverty escalation.

3) Both poverty escalation leads to environmental degradation and environmental degradation leads to poverty
escalation are false.

4) Both poverty escalation leads to environmental degradation and environmental degradation leads to poverty
escalation are true.

\qﬁﬁ?’ﬂﬁ:

D) ardret 3% r gfer & orafaor et @ 8

2) ofiaRoT &Rt & TR 3 gfg e )

3) a1l #F ey g A TATAROT &1 BT ¥ 3R TATaRoT a1 & I 3 3 @1 & A At AT B
) ardreft # chrar g § oTaRoT &R BYeT & 3R TTaRoT et & el # g el & et we g

Ques # 4

Rural housing, Electrification and Telephony are concerned with:
1) Bharat-Nirman.
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2) National Rural Health Mission.
3) Pradhan Mantri Jan-Dhan Yojana.
4) None of these

artor raTw, fggediFor aur T FT HEaey 8
D sa-Aor &

2) s amoT FaTERT AR 3

3) weneAAA STeT- e Arotelr |

4) goTal Q IS 1)

Ques # :5

Make in India' programme concerns:
1) 30 Industries/sectors.
2) 25 Industries/sectors.
3) 24 Industries/sectors.
4) 29 Industries/sectors.

AF 37 32T WA FT FaT &
1) 30 3e=/arst @
2) 25 3eAma/exat
3) 24 Zeai/eET A
4) 29 Zeait/arat @)

Ques # :6

Choose the correct statements for Poverty estimates based on 68th Round of NSSO and answer from given
options: Statement I - Rural Poverty line was Rs. 27.20 per capita per day in 2011-12. Statement II - Urban
Poverty line was Rs. 33.33 per capita per day in 2011-12. Statement III - Rural Poverty line was Rs. 27.33 per
capita per day in 2011-12. Statement IV - Urban Poverty line was Rs. 33.20 per capita per day in 2011-12.

1) Statement I and Statement II are true
2) Statement III and Statement [V are true
3) Statement I and Statement IV are true
4) Statement II and Statement III are true

TATHTHHT F 689 T35 I AR I & IThelall & Tt F T FYAT $T oA F 74T QT 10
el @ 3cav ad: FU 1 - 2011-12 F Tretor 8= 31@T 27.20 T 9fS swfedd ufar et off a1 -
2011-12 # 2rgdr It 3@T 33.33 ¥ wfer safda ufer e oY) e 111 - 2011-12 & rafior srdieh Yar
27.33 & Ui a9 a ufa e ofl| 4= IV - 2011-12 & g 7+l @m 33.20 3 wfa sAfFa ufa = oY,
Dawaisitnacad

2) syt 111 AR IV EcT &

3) FUA TR IV AT §|

4) et 11 3R I FcT B

Ques # :7

The unemployment rate in India based on CDS approach for 2011-12 was:

1) 5.7%
2) 5.5%
3) 5.6%
4)  5.8%
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2011-12 F RIS ARG A W.3.TH(CDS) TioeHIUT 9T TR A & &Y

1) 57%
2) 5.5%
3) 5.6%
4) 5.8%
Ques # :8

Which of the following is not the objective of National Population Policy, 2000:
1) Reduce maternal mortality rate to below 100 per one lakh live births.

2) Reduce Infant mortality rate to below 30 per one thousand live births.

3) Reduce the net reproduction rate to 1.

4) Promote the small family norm.

@ & ¥ SIa9T 3327 TSHT FATETT A, 2000 ¥ FFIfT AL 2
D) 9f ve o shfaa dafa(emsa 92) W ARG 7eg X 100 F A ofre

2) 9f3 T goTR SN efa(@sa %) TR e Feg &3 30 F o7 o1

3) faeg STete & | e Fa Ll

4) B IRAR & AFAES T IgTaT 3o |

Ques # :9

Y.H. Malegam Committee is concerned with:
1) RRBs

2) Rural Cooperative Sector.

3) Micro finance Institutions.

4) SHGs.

qTS. T ATAINH FAE FT TFa ¢
D amam &Is(RRBs) T

2) grreor HgehiY &1 9|

3) AT PISeTE FEATH |

4) v T SN(SHGs) |

Ques # :10

Choose the incorrect objective of National Manufacturing Policy, 2011 from the following options:
1) Increase the share of manufacturing sector in GDP to 25% by 2022.

2) Create 100 Lakh additional Jobs in the manufacturing sector by 2022.

3) Enhance Global Competitiveness of Indian Manufacture Sector.

4) Increasing Manufacturing sector growth to 12-14% over the medium term.

frafaf@a 7 ¥ a8 9o ot B aedir Avgdhaafier Aif, 2011 #1327 781 8

1) 2022 T Hegtharafier a1 S 7 Rear seret 25% e e

2) 2022 T Hegtharafier a1 3 v o 3ifAferd AR & @ &7 Foio Y
3) TR AegtheraRar &7 &1 faed TR R yfaeast sgr

4) wreae 3raftr  9fE & fow Aegtharafier & A 3fg 12-14% e Fgr=m

Ques # :11

Arrange the following countries as per their services GDP rank in the decending order: A. Japan B. India C.
USA D. China

1)C,D, A, B
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2)C,A,D,B
3)C,A,B,D
4)D,C, A, B

FrfafRT et 1 357 Jar &7 S FIHTE T & IFTAR ged §UFHA H cqaiedd :3: A.

STl B. TR C. JUHT D. et
1)C,D,A,B
2)C,A,D,B
3)C,A,B,D
4)D,C,A,B

5

Ques # :12

Which of the following benefits proclaimed for India from WTO?
1) Expansion in textile exports.

2) Expansion in agricultural exports.

3) Expansion in trade.

4) All of these.

STEABN(WTO) & FArafaf@a # @ wlad amer s it ffes & qra o oo 32
D) trgersa faial 7 iR

2) fara faiat #F fear|

3) AR # TR

4) za7ar @ Tl

Ques # :13

Assertion(A) : The WTO is by its very nature biased in favour of the rich and against the poor nations.
Reason(R) : WTO structure and agreements favour developed countries.

1) Both (A) and (R) are individually true and (R) is correct explanation of (A).

2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
3) (A) is true but (R) is false.

4) (A) is false but (R) is true.

ARFUA(A) : ST A ST T el Ja & a7 A § 3R T N F RFeg ¥ FROR) :
ST Y TET AR FHSAlS i weeh & gar e |

D (A) 3R (R) et 31era1-37019T TEY & 3R (R), (A) o Ty AT

2) (A) AR (R) ST 3reTeT-37eTeT TEY & 3R (R), (A) T TLY caATET 7Y )

3) (A) T Y, fheq (R) TTed )

D (A) T ¥, fReg (R) T Y

Ques # :14

Which of the following is the correct sequence of WTO Ministrial Conferences?
1) Singapore, Doha, Cancun Fiasco.
2) Singapore, Cancun Fiasco, Doha
3) Cancun Fiasco, Doha, Singapore.
4) Cancun Fiasco, Singapore, Doha.

sqegeIat i fAfaffcaa Fival 1 @@ w7 M fa@a A d 7 2
D) TR, e, Fretepet BreR|
2) FRTR, FTeTepet BIERY, A
3) FTeTepet IR, AeT, FHR|
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4) Terepet Hreay, R, 2

Ques # :15

Which of the following are the serious concerns in WTO for developing nations including India for 'AOQA'?
1) It does not address the food security issue in developing nations.

2) It legitimise various trade distorting practices of developed nations.

3) Both statements are true.

4) None of these.

'AOA' & TeH H R Tfed fawraaiier gt & AT wTo & Reafaf@a & & siaw asiic Rame g2
D) o faerarsiier &= 31 Wie GR&T & AR, &1 HATUIT 6] T 8

2) gg Tyl g2t SaRT SATIR T TR Fe aTel IagR] <l STefel! & & o

3) @Yelt oyt T B

4) 313 O S 7Y

Ques # :16

Which of the following are correct regarding India's New Foreign Trade Policy?
1) It was announced on 1 April, 2015.

2) It's duration is 2015-20.

3) It supports 'Make in India'.

4) All of these.

R F1 a5 el saR AifS & graey A RRR@T A T Farad 8?2
D) 71 3m¥er 2015 a1 efra &7 oy o

2) Eeht A 2015-20 B

3) a1g Fie 31 $T3Ar H FEART AN

4) za7ar & )

Ques # :17

India's Services export share in global services exports in 2014 was:
1) 7.5%

2)3.2%

3) 1.7%

4) None of these

2014 H fIeg Aar1 fAATaY 7 R & Qa1 AATAY *71 a4
1) 7.5%
2) 3.2%
3) 1.7%

4) g O S 7Y

Ques # :18

Choose the correct statement and answer from the given options: Statement A : The Merchandise exports on
BOP basis has declined by 0.6% in 2014-15. Statement B : India's Merchandise exports and imports have
decreased by 1.3% and 0.5% respectively in 2014-15.

1) Only statement A is true
2) Only statement B is true
3) Both statements are true.
4) Both statements are false.
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HE FHYAL B A TUT AR AT 10 fashedl F 3eav Ad: FYA A : 2014-15 F I ol W
3menRe aEgait F1 74T 0.6% FRT 8| FU B : 2014-15 7 R &7 9% AT v 3mana waen:
1.31% T4T 0.5% & Y ¥
D) Shaer et (A) T &
2) &hael U (B) AT B
3) (a) 3R (B) Al T B
Y (A) 3R (B) At I 7

Ques # :19

The first Chairperson and Vice-Chairperson of Niti Aayog are respectively:
1) Sh. Narendra Modi and Bibek Debroy.

2) Sh. Narendra Modi and Arvind Panagariya.

3) Sh. Arun Jaitley and Arvind Panagariya.

4) Sh. Arun Jaitley and Bibek Debroy.

A ITAI(Niti Aayog) F TUH TIIA UG qISH-TAIHT FHAT: §:
D) sfr 7o A 31k e g5

2) ot g A 3R 3R g

3) 5 3507 Sreel 31X 3T greraTRan

4) Y 31507 el 3R e Y|

Ques # :20

Given the observations 73, 70, 87, 80, 90 and 85. The range coefficient is:
1) 1/4

2)1/2

3)1/8

4) None of these.

fw arw sraaF=Al 73, 70, 87, 80, 90 3 85 FT RAFAR 0T+ ¢:
1) 1/4
2) 12
3)1/8

4) g1y T IS 7]

Ques # :21

The formula for coefficient of variation is:

1)
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3) (%) X 1000

Ques # :22

Which of the following are measured graphically by Lorenz Curve?
1) Dispersion

2) Standard deviation

3) Variance

4) All of these.

e 7% 1 AT R qERT i & @ Fld A e
D) srqfaor

2) gAY Ta=reteT

3) ygRoT

4) za1ar @ T

Ques # :23

The standard deviation for the first 10 natural numbers is:
1) 2.87

2) 2.0

3) 1.87

4) 0.87

YU 10 WTH o TEAT3HT T YT farereret &:
1) 2.87
2) 2.0
3) 1.87
4) 0.87

Ques # :24

Choose the cormrect statements and answer from the options:
Statement A : X+ Q.D. includes 50% of the items.
Statement B : X+ M.D. includes 57.31% of items.

Statement C - X+ S.D. includes 68 27%of the items.

1) Only statement C is true

2) Only statement B and C are correct
3) Only statement A and C are correct.
4) All statements are correct.

TE! HAAT T A Tl QU A7 fdahed] § 3R/ &
FAT A : X +Q.D. 50% Fel & GiEAfed a<ar g
®AA B : X+ M.D. 57.31% Hel &1 gfenfaa a=ar 2

Fod C : X+ S.D. 68.27% #cr &1 @feATad #<dT 2]
D) Saasaacad g
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2) FadFHUTB I C T
3) S HuT A FNCHEE
4 sl U TR

Ques # :25

Choose the correct answer:

1) Skewness is a pure number.

2) Skewness have some meaningfull scale of measure.

3) Skewness is a pure number and skewness have some meaningfull scale of measure both are true.
4) Skewness is a pure number and skewness have some meaningfull scale of measure both are false.

D) forarar ves faee s gl 8]

2) fqaHdT AT &7 T 30T FATAT gl B

3) T Ueh fare HET gl § T FAwear AT 1 ek 31eiqut 3T giar § et ae @
4) Faraa vk faR[g ST el § 7 Rawsar Arde &1 veh et e giar § et s ¥

Ques # :26

In a frequency distribution, second, third and fourth moments about the mean are 3, 0 and 27, The frequency
curve will be:

1) Normal

2) Lepto Kurtic
3) Platy Kurtic
4) None of these

farelt amgfea deer & gaTax Arew @ g, g 3 aqe afeara 3, 0 727 ) sngfea s ghm:
D) sremre

2) s7ehrer < are

3) Trge o aren|

Y gorar A e

Ques # :27

Assertion(A) : Karl Pearson's measure of skewness is called first measure of skewness. Reason(R) : Karl
Pearson's measure of skewness is based on Mean, Median and Mode.

1) Both (A) and (R) are correct and (R) is a correct explanation of (A).

2) Both (A) and (R) are correct but (R) is not a correct explanation of (A).
3) (A) is correct, but (R) is incorrect.

4) (R) is correct but (A) is incorrect.

HAFYT(A) : Fret TIET F AT ATT ) RYAGT FT TUH AT FEa 8] FRON(R) : HTel NIHT F7
ﬁwmmmw,ﬂmaawwmm

D (A) 3R (R) a1 &Y & 3R (R), (A) T T g

2) (A) 3R (R) X FET &, fFee] (R), (A) T TEY e =7t §

3) (A) T E e (R) o1 B

Y (R) TEY & Fre (A) T B
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Ques # :28

Suppose ¥ is the correlation coefficient between

Xand¥Y andw =0, then

1) X will be independent.

2) Y will be independent.

3) Both X and Y will be independent.
4) None of these.

AT ¥, X U4 Y & Heg gpasded A0NE & 3R ¥ = 0 gt ux
) X Tadagnm

NG = SEREI

3) A\iXudY EadT g

4 AR FS AL

Ques # :29

Probable ermror of correlation coefficient () is:

1) 2
06745 (=)

VR

2) z
06754 ()

Vn

3 .z
) 0eTaTEy

4 .
) :]_5?54{1; )

Hedraey A0TH(y) Sl TFAT AT Bl o

1 2
) 06745 (=)
VR
2 z
) 06754 ()
VR
-
Vo oenar
4 42
) oersa(t
n
Ques # :30

The limits of rank correlation coefficient lies between:
1)0 and 1

2) -o AN +20

3)-1 and +1

4) None of these.

FIREAF) Tgaeer 0T H AT g1 )
Do

2) -w 3—f|’{+m

3) 13k +1

4) g1 | S 7Y
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Ques # :31

Assertion (A): Correlation coefficient is the geometric mean
between regression coefficients.
Reason (R). w==* \/bxy X byx

1) Both (A) and (R) are correct and (R) is a correct explanation of (A).

2) Both (A) and (R) are correct but (R) is not a correct explanation of (A).
3) (A) is correct, but (R) is incorrect.

4) (R) is correct but (A) is incorrect.

JfARUA(A): TeEH ONMF TAGIHA IOMRT T SAHAAT
AT BT ¢

FUA(R). ¥ =% /bxy X byx

D (a) 3R (R) =1 TET & 3R (R), (A) BT T s @)

2) (A) AR R) QA FEYE, B (R), (A) T T caTEar 7
3) () T E, Treg (R) T B

D (R) T & o] (A) T &

Ques # :32

Choose the correct answer for a straight line trend equation Y = a + bX :
1) a and b are constants.

2) X is the required trend value.

3) Y is a unit of time.

4) All of these.

U T 9gfa FHAFOTY = a + bX F AT TR e I
1) a 3t b 3R TR &

2) X 3r3free 3uaIfa e B

3) Y I (EH) 5T B

RACLERE

Ques # :33

If two events A and B are not mutually exclusive, then P(A or B) will be :
1) P(A) +P(B)

2) P(A) + P(B) - P(A and B)

3) P(A) + P(B) - P(A or B)

4) None of these.

I & geaTv A 3R B REUT 3rqasit 71 &Y, a9 P(A I1 B) ghef:
1) P(A) + P(B)

2) P(A) + P(B) - P(A 3R B)

3) P(A) + P(B) - P(A IT B)

4) g1 & S 1Y)

Ques # :34

The propbability of event A, given event B is :
1) P(A/B) =P(A and B) / P(B)

2) P(A/B)=P(A or B) / P(B)

3) P(A/B)=P(A or B)/ P(A)
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4) None of these.

ueT B & fEU U 1 W geaT A @y wriehdr gef:
1) p(A /B) = P(A 3R B) / P(B)
2) P(A/ B) = P(A TTB) / P(B)
3) P(A/B) = P(A TTB) / P(A)

4) T A IS A

Ques # :35

Binomial distribution is :

1) A probability distribution.

2) Also known as Bernouli distribution.

3) Both (A probability distribution) and (Also known as Bernauli distribution) are true.
4) Both (A probability distribution) and (Also known as Bernauli distribution) are false.

qﬁFﬁIﬁEGT%E

D) v yrfdeRar s

2) STATSN SesT o AT W 3 ST ST

3) QT (T IR deeT) T (ST ST & ATH § 3 ST ST &) T B
) Bt (Teh TRl sceT) & ( ST T & oATH & 317 ST ST &) 31T 8

Ques # :36

The mean of the Poisson distribution is 2.25. The value of Variance is :
1)2.25

2) 1.5

3)22.5

4) None of these

CATRY ST BT ATEY 2.25 §| THIOT FHT AT ¢
1)2.25

2) 1.5

3)22.5

4) 5T A FIS A

Ques # :37

Which of the following is not the correct for normal distribution?
D pp-o?
2) uz=0
3) B1=3

4) Bp =3

farafaf@a & ¥ siaar AeeT /AT e F Tt A a2
1) I.LQ:CE2
2) uz=0
3) B1=3
4) By =3

Ques # :38
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Which of the followig test is used to test the association between the qualitative variables?
1) F - test
2) y2_test
3) t-test
4) Z - test

frafaf@a & @ Flerar aRaror auneas @ F AET AETd A AT FI F TGFT grar g2
D F - wdregor|

2) y2 - afragor |

3) ¢ - odretor|

4) 7 - reToT |

Ques # :39

Type II error is defined as :
1) Accept Ho when it is true.
2) Accept Ho when it is false.
3) Reject Ho when it is true.
4) Reject Ho when it is false.

gfadi R A Jfe F farafaf@a 7 & e v F aftenfa fmar mar @:
1) Ho &) EreRe st ag adrar |

2) Ho &I TehR&AT STaTh Ig ITeid &l |

3) Ho &1 31€d1ehReTT STafeh I8 TET & |

4) Ho &Y 31T STafeh Ig i &l |

Ques # :40

Which ofthe following denotes the power of the test where o
Is probability of Type | error and ¢ is probability of Type |l error?

1) o
2) B
3) 1-a
4) 1-Pp

rafefaa & ¥ ot afteor & oafFa & gae =ar & T
o UUH UHR FH FfE T wifear & 3R p gfada ver $r gfedr wfaswar g2

1) o
2)

3) 1-a
4) 1-B
Ques # 41

Which of the following is correct for two tailed test?
D Ho:p=ug
2) Ha'u = g
3) Hatw < po
4) Ha:p=uo
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farafaf@a # & Flaar Fweq al geo aReror & v acr @2
1) Hp:pn=mpg
2) Ha:p=ug
3) Hatu < ug
4) Ha:p=ug

Ques # :42

Which one of the following is not the property of t - distribution?

D _1=t=1

2) Mean =0

3) t - distribution is symmetrical.

4) The Variance of t - distribution approaches to one as sample size increases.

frrafaf@a & & wlaar Feq « - deo1 & Torent Fi yave 73t FIar 82

) -1=<t=<1

2) Arewr =0

3) ¢ dea gATAT AT ]

4) gfaeel & HTHR & T¢aT T t - SceT T THIT SHIS T 3 31T & B

Ques # :43

Which one of the following is correct for 2 - test?

1) Itis non - parametric test.

2) Itis goodness of fit test.

3) It was first used by Karl - Pearson.
4) All of these.

Tafaf@a 7 & =iaar faeeg y2-ofeor & e a0 &

1) gg I yrerer afetor

2) Ig goodness fit TRETOT B

3) g TATYH Frel NI SIRT 3TN 7 foram aram 2|
4) gAY A T

Ques # :44

Which of the following test is used to test the overall significance of overall Regression?
1) F - test
2)t - test

3) y?-test
4) None of these.

frrafaf@e F ¥ Flear aRaror Forer Telaerter it Gorer wredemar 1 S g F2eT fFar smar 82
D) F - advetor

2) t - dreTor

3) x2-odraror

Y goar & 1 TN

Ques # :45
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Match the following and choose the correct answer:

List— | List Il

1. Reject Hy when itis true A Simple Random Sampling

2. Mean = degree of freedom B. Type | error

3. Mean > Median C. %2 — distribution

4. Population is Homogeneous D. Positively skewed distribution.
1) 1-A, 2-B, 3-C, 4-D
2) 1-B, 2-C, 3-D, 4-A
3) 1-C, 2-B, 3-A, 4-D
4) 1-B, 2-A, 3-C, 4-D

frafaf@a &1 Aeme & 3k @6 3R &1 goa X

- ol
1. Hp & 3EdRAT J&f& I8 9o 81 A, T efds wid=ad
2. ATET = TAdAdl T Pier B. WA ISR &l Ffe
3. HET > HfETHT C.yx?- des
4. SGEAT GAET § D. geo gdicHe [A9adr arer
1) 1-A, 2-B, 3-C, 4-D
2) 1-B, 2-C, 3-D, 4-A
3) 1-C, 2-B, 3-A, 4-D
4) 1-B, 2-A, 3-C, 4-D
Ques # :46

Which one of the method is not appropriate to measure cyclical variations?
1) Moving Averages Method.

2) Residual Analysis Method.

3) Harmonic Analysis.

4) Direct Analysis.

R # & Fla Rfer Tsr Rraor ) amoe o sugea g §2
D) <rer Ay faffy

2) 3rafarse faeervor [3fey

3) gardy fagarmmT

4) gegeT fageror

Ques # :47

Analysis of Variance technique was developed by:
1) Karl Pearson

2) R.A. Fisher

3) W.S. Gosset

4) Galileo

THTOT fAReNOT daFed e s e & oY oft:
D) et forardet gam)

2) 31R.T. R g@nT|

3) seey,vH.aMET gan

4) Afafer gar
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Ques # :48

Which of the following are correct assumptions for analysis of Variance?
1) Normality and Homogeneity.

2) Independence of error.

3) Both (Normality and Homogeneity) and (Independence of error).

4) None of these.

frafaf@a & @ wladt ATgae ga3or @Advor & v aca §?
D) gamaAreaar ik @@eadn

2) 3fe & T

3) At (FRTATI AT 3R FAwTan) 3R (I & T

4) 5ot A 1S e

Ques # :49

Properties of a good estimator are:

1) Unbiasedness and Efficiency.

2) Homogeniety.

3) Both (Unbiasedness and Efficiency) and (Homogeniety).
4) None of these.

TS HA IThelsh & 0T 4 &

D) IRaararerqotar 3 Frererdr

2) EEYT|

3) gt (ARaaTaTaelar 3R Frreren) 3R (FHAwTE)
4) 5ol q 1S e

Ques # :50

1
If A :Iﬂ], then its Transpose will be called:
0

1) Column Matrix
2) Row Matrix
3) Identity Matrix
4) Null Matrix

1
I A =H &1, dd SH&T Ul HEeldam:
0

D sgrr Ry
2) dfga AR
3 g At
Y AR

Ques # :51

Choose the correct answer:

1) Determinant is defined for square matrix.
2) Determinant is defined for Identity matrix.
3) Value of Identity determinant is Zero.

4) All of these.
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H’E»PI' Jccd¥ ﬂﬁ'ﬂ':
1) anrforer, et Afeera & dast 3 cgera 7 AT )
2) FRTO SHTS AT F Tea 3 cgera S ST Y|
3) 5ohTS Afeera &1 AT = g1 g
4) goTer & |

Ques # :52

Which one of the following is not correct for the linear programming problem?
1) Objective function is linear.

2) Variables are non-negative.

3) Prices are variable.

4) Linear relations in the problem.

fArafafad & ¥ siaar Reew s WanfaeT gaear F e F gy A€ 82
D) 3297 wor @& g1ar |

2) T IR - HOTcAS T |

3) Frad aRaderelier gl &)

4) gorear 7 YW GEaee 9T S g

Ques # :53

Which of the following are correct for Input-Output Model?
1) Each Industry produces only one homogeneous output.

2) The determinant of the matrix must be non-negative.

3) All diagonal elements should be less than one.

4) All of these.

fArafaf@a & ¥ Flaar ey srara-feia asa F P ad 2
1) g3 3ea191 el Ueh HARY 3cUee 3cuTied id 8

2) Afeerd & GRTUIS &1 AT 3 - HOTMcH glell aTiey|

3) fyenol & TafY 3raat T AT T A i g1 TRY|

4) g1y & Tl

Ques # :54

If supply function is P = 2x + 3, then what will be producer's surplus at x=2?
)7

2)4

3)2

4) None of these.

Ife qfet Bere P = 2x + 3 Y @9 x = 2 9 391G HY Tod F47 g1ef?
)7
2) 4
3)2

4) goTar Q Y 1)
Ques # :55

If MC =2e%29 then what will be TC at FC = 110?
1 100
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2) 120
3) 90
4) None of these.

Ifg MC =2e%29 g, a9 FC=1109X TC AT giai?

1) 100
2) 120
3) 90

Y A FS

Ques # :56

Suppose the demand function is P = e */% and price elasticity

ofdemandis -2, then whatwill be the level of output?

1) 4
2) 2
3) 1
4) 0.5

ATAT AT Soled P= e */2 § qur &A@ & faga 28,
dd 3cUlgd HIETd] T grm?

1) 4
2) 2
3) 1
4) 0.5
Ques # :57

What will be the Saddle Point Solution of the following Pay off Matrix?

8 7 10
A= |10 9 12

11 5 9
D 9(ag)
2)  9(ag3)
3)

Both 9(as») and 9(a»3) are frue.
4)  None of these.

farafaf@a spEram(@3ie) Aftey & dsa &g g =ar gem

8 7 10
A= [10 9 12

11 5 9
1) 9(az)
2)  9(az)

3)  g&t 9(az) T Yass) T B

4 T FS A

Ques # :58

Which one of the following is not correct for merit goods?

1) The net Private benefit to the consumer is not fully recognized at the time of consumption
2) Consumption of Merit good generates an external benefit to others.

3) Healthcare and Education are merit goods.

4) The market of merit goods is an example of complete market.
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frafafla # 3 Fiaar Rees afe avget F Reah 7@ i

D) 3rsfier 3 ey 3usiierar g st oimet Y qut &9 & Tgaretar 78T §)
2) AT FEgHT F1 3uNeT 312t & forw ey et Giad FRar g

3) Fareey gweer 3R e AR aEqu e B

4) AR TEI3T T ST Teh YT ST T 3ETeT B

Ques # :59

Which of the following are characteristics of Public goods?
1) Non-rivalry

2) Non-excludability

3) Both (Non-rivalry) and(Non-excludability)

4) None of these

P i & ardefos aegat A Ravany st &
D) 3 wfederaan

2) 3T 3rgaforan

3) gt (3R wfcregetaan) iR (@R srafsram)

4) 3T A IS ALY

Ques # :60

Match the following and choose correct answer:

List-I List-Il
1. Public Transport A. Public Goods
2. Adr B. Merit Goods
3. Food C. Club Goods
4 Cinema D. Private Goods

1)  1-A,2-B,3-C,4-D
2)  1-B,2-A,3-D, 4-C
3)  1-A,2-B, 3-D, 4-C
4)  1-D,2-C, 3-A, 4-B

frfaf@a 1 gafra &1 3R |96 3R F7 goE

- Sl
1. gaafas aramd A. HTaATeIH aEqU
2. gar B. Afte a¥qgu
3. #AAA C. Fdg axgu
4. et D. feelt avge

1)  1-A,2-B,3-C,4-D
2)  1-B,2-A,3-D, 4-C
3)  1-A,2-B,3-D,4-C
4)  1-D,2-C,3-A, 4-B

Ques # :61

Which of the following is correct for Wagner's Law:

1) There is a functional relationship between growth of the economy and government activities.

2) The law is related to rising public expenditure.

3) Both (There is a functional relationship between growth of the economy and government activities) and (The
law is related to rising public expenditure) are true.
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4) None of these.

e F Aaw & fav fafaf@a 7 & siaa Reea @ 2

D) ey foramsit 3R 3nfies gfg & weeilcas Toaetr arm ST ¢

2) 75 e 9ol gU AR 4T § FeETA 8

3) gt (TR a3t 31 3N gfE 3 BeaTcrs TFawy qrIT ST E) T (TE AT Sgcd gV
TR <Y 8 FFTUd &) T g

4 go1a1 A 1S

Ques # :62

Which one of the following is a Productive Public expenditure?
1) Defence Expenditure

2) Administration expenditure

3) Education expenditure

4) None of the above.

fatifhd & ¥ FIF9T IcueF FIaATAF 9T 82
1) zamr e

2) gemafaes |

3) e =7

4) g1 T S 7G|

Ques # :63

Which of the following is not related to the effect of Public expenditure on Production?
1) Ability to work.

2) Willingness to work.

3) Income Inequality.

4) Level and Pattern of the production.

farfaf@a & @ Fiqar Feey grdenfas sa7 #1 3cqe W 954 ard I9T9 § G fig 781 82
D) &t et i A

2) & e T o]

3) 3 3 AT

4) cqree 1 F- T A

Ques # :64

Which one of the following is correct:

1) The impact and incidence of direct tax fall upon the person.

2) The impact and incidence of direct tax falls on the different persons.
3) The impact and incidence of indirect tax fall upon the same person.

4) Only (The impact and incidence of direct tax falls on the different persons) and (The impact and incidence of
indirect tax fall upon the same person) are correct.

AFAifhd & @ Flaar AFeT a@ 2
1) tregeT Y T 991Ta U R, St Teh &Y T 9X 93T 8

2) YTt Y T THIG UF HN 3Tel9T-37e19T egiaradl oY s g
3) 319cTaT T T HR U THIT Sl Teh &7 e T O ISl g
4) el (TcT 8T T T YOI Ud X 37eT9T-3el9T ATl oY I ) 3R (319c8T X ol $1R Td T8
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gIAT Teh & SITFd W USAT &) I g

Ques # :65

In which of the following conditions, the whole incidence of tax lies on the sellers?
1) Elasticity of demand = * and Elasticity of supply = 0.

2) Elasticity of demand = 0 and Elasticity of supply = %
3) Elasticity of supply > Elasticity of demand
4) Elasticity of demand > Elasticity of supply

frafaf@a & & fre et 9v X 7 ot R fasranst o ggar d?
1) &R &r & = o0 3R oftf &1 &= = 0 gl

2) Afar &1 @t = 0 3R gfd & s = 0 gl

3) gt r ey > #feT 1 |

4) FveT ¥ S > gff r o

Ques # :66

The inverse relationship between tax revenue and tax rates is called:
1) Buoyancy of Tax

2) Elasticity of Tax

3) Laffer Curve

4) None of these.

Y & T Y HH F ALY Socl Hrdet hgaldr 8:
1) &g T Sccarrastan |

2) s e |

3) ST a5k |

4) 5ol A 1S |

Ques # :67

Match List-1 and List-Il and select the cormmect answer:

List-| List-lI
1. Canon of Benefit A Taxation
2. Canon of Convenience B. Principles of Taxation
3. The Concentration Theory C. Tax Shifting
4 Sacrifice Theory D. Public expenditure
1) 1-A, 2-B, 3-C, 4-D
2) 1-B, 2-A, 3-C, 4-D
3) 1-D, 2-A, 3-C, 4-B
4) 1-D, 2-A, 3-B, 4-C
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TE-1 3R FEEIl T AT &Y dAr FEr W R g
- -

1. @met 1 Reend A FHIRTTOT

2. giaem &1 Meua B. s{RIO0T & FeEmd

3. HeheguT cEid C. &1 & dadd

4. =T & FaeEna VEICEIGE R
1) 1-A, 2-B, 3-C, 4-D
2)  1-B,2-A,3-C, 4-D
3)  1-D,2-A, 3-C, 4-B
4) 1-D, 2-A, 3-B, 4-C

Ques # :68

As per the 14th Finance Commission Recommendation, the States' share in the net proceeds of Union tax
revenue is:

1) 40%
2)  32%
3)  38%
4)  42%

143 fareat 3T i RABIRET & TR, TG FT TSTET Y PG 37T F T4 1 Rear e:
1) 40%
2) 32%
3) 38%
4) 42%

Ques # :69

Arrange the following deficits as percentage of GDP in descending order: A. Revenue deficit B. Fiscal deficit
C. Primary deficit

1) B,C, A
2) B, A, C
3)C, B, A
4) A, B, C

ﬁmmaﬁaﬁaﬁgﬁﬁ#ﬁam%wﬁaﬁgw#mﬁmﬁ: A. TSTET 91T B. Ui T

"1eT C. YIRS °TeT
1)B,C, A
2)B, A, C
3)C, B, A
4) A, B, C

Ques # :70

What was the fiscal deficit target for the year 2015-16?
1) 3.9 percent of GDP
2) 3.0 percent of GDP
3) 3.2 percent of GDP
4) 2.8 percent of GDP

a¥ 2015-16 & T TTRINT °TS FT FAT AT AT?
1) Shérdr a7 3.9 gfaera
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2) Sy &7 3.0 wfaera
3) ShEdrdr &1 3.2 ufaera
4) SErdr &7 2.8 wfaera

Ques # :71

Which one of the following combination of two deficits is most challenging for the Indian Economy?
1) Fiscal and Revenue deficits.

2) Revenue and Primary deficits.

3) Current account and Fiscal deficits.

4) Budget and Fiscal deficits.

forsstifre & & Flerar arer oo AR srdegav  fov e sft gelfaqor a2
D) reterdiar we reted e

2) qroTEq Td yrAfAe are|

3) TTe] @I Td TSTehISIT ETeT|

4) gofe Td TSty =reT]

Ques # :72

Which one of the following is not relevant to Fiscal Policy?
1) Resource Mobilization.
2) Resource allocation

3) Equity

4) Exchange rate stability.

Arafaf@a # @ slaar ganiy Aifa & fov yafes adi g2
1) gamerstt fr arfeierdn

2) AT ST 3Tdes

3) g

4) RfaeT &3 i feer

Ques # :73

Match the List-l and List-Il and select correct answer:

List-| List-lI
1. The Wealth of Nations A, Adam Smith
2. The Pure Theory of International Trade: A Survey B. David Ricardo
3. The Theory of International Trade C. Heberler
4_Principles of Political Economy and Taxation D. Jagdish Bhagawati
1) 1-A, 2-B, 3-C, 4-D
2) 1-A, 2-C, 3-B, 4-D
3) 1-A, 2-D, 3-C, 4-B
4) 1-B, 2-A, 3-C, 4-D
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FrafofEd §dr-| @ g2l & Ao & 3 98 3 & 99a S

- i
1.2 ded 3TH F27H]| A TER &R |
2. WO =GN 3TF Seda3a 25 T 8 B. =fag et |
3. =OHT 3TF SelaIET &8 C. galo |
4. TfETew 3w difefees soaET Us SFEaa D, e seEradn |
1) 1-A, 2-B, 3-C, 4-D
2) 1-A, 2-C, 3-B, 4-D
3) 1-A, 2-D, 3-C, 4-B
4) 1-B, 2-A, 3-C, 4-D
Ques # :74

Factor Abundance is defined:

1) In terms of Physical Units.

2) In terms of Relative factor Prices.

3) Both (In terms of Physical Units) and ( In terms of Relative factor Prices) are wrong.
4) Both (In terms of Physical Units) and ( In terms of Relative factor Prices) are true.

|TETeT YIRAT ST T ATl g

1) sitferp Sareait & ST

2) |IYeT @TereT AT & §9 3]

3) gt (i Serreat & ®9 ) T (A8 AT HIAAT F FT ) Tl B
4) At (e Sl & w9 ) T (ATET Wree ArAGT S F9 ) T

Ques # :75

Complete specialisation in Production refers :
1) Linear Production Possibility Frontier

2) Concave Production Possibility Frontier

3) Convex Production Possibility Frontier

4) None of these.

3eutee 3 qut fAfRrsdiaor w1 arawr g:
D Yf@d 3edres HH1aeT 95|

2) A T GHTIT deh|

3) FeeTdleT 3cUTGsT HHTST deh|

4) g1 T S 7]

Ques # :76

Autarky means:

1) The Absence of Trade.

2) Economic Isolation.

3) Both (The Absence of Trade) and (Economic Isolation) are wrong .
4) Both (The Absence of Trade) and (Economic Isolation) are true.
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3eThf (Autarky) ¥ dread gar %’:

3) gt (zareR #hr 3reqafefan) iR (3N sraema) aTerd §)
4) gt (caTor i rerafefan) 3 (3T srerema) T

Ques # :77

Which of the following statements are correct for comparative Advantage theory of International trade?
Statement A : Difference in tastes between two nations with identical production possibility curves leads
mutually beneficial trade. Statement B : Different production possibility curve with equal relative commodity
prices in two nations lead no mutually beneficial trade.

1) Only Statement A is correct.

2) Only Statement B is correct.

3) Both Statements A and B are correct.

4) Neither statement A nor statement B are correct.

frrafaf@a & & Flad FUa FATHT AR F JacAs a7 R F A A TN 2 FYT A : Q
IS F ALY AR ATHYE G191 T IcUTGeT WHTIAT qh Ueh HATA g1t & 3 3 it IUsel & Ay
TIATET A 3R 8Y FYA B : & USET & ALT SATIR ATHIG AT 8191 FfE IcTeeT THTIAT I IA9T-37e19T
81 & 3T off QAT Trogt # aEqt Y Frerd v TAW &Y

D) haet Ut A G R

2) &adl HUF B T Y

3) gt FUT TeT B

DA N FUT A IRTEFUTB TR

Ques # :78

Which of the following is not the basis of trade in Heckscher-Ohlin theory of International trade?
1) Difference in relative factor endowments.

2) Difference in relative factor prices.

3) Difference in the economies of scale.

4) None of these.

fArfaf@a # ¥ Flaar AFeq T - ARAT F RO AR RAGia # SATIR 7 3MUR 787 &2
1) et @mersT wenmetar # 3R

2) @rdeT | AT 3 3|

3) YATer T e egansit 7 3w

4) goTar Q Y 1)

Ques # :79

Which one of the following is incorrect?

1) Immiserizing Growth - Jagdish Bhagwati

2) Reciprocal demand curves - J.S.Mill

3) Effect of trade on factor prices - Samuelson

4) Effect of trade on the distribution of Income - Stopler and Samuelson

fArifha & & Fiaar RFeT smea €2

D) grefiees gfig - STardrer s7erach |

2) gfaqXes Al 9% - X.0E. A |

3) ATEST HHACT TR SITIR T THIG - JFIere
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4) 31 & TIeaROT TR SATIR T THIS - TR T JFger|

Ques # :80

Under unstable foreign exchange market, BOPs surplus of nation will be eliminated by :
1) Currency devaluation

2) Currency Revaluation

3) Reducing Tarrif rates

4) None of these.

IR R Fadelt R SR & 3iceia, var Tog & [arder o &1 3faaT @e R Sream:
D) ¥l & 3raeeaa

2) e & HRHeTA 3

3) g3[eh &X FH FH

4) g T S 7G|

Ques # :81

The Intra - Industry trade Model is based on :
1) Comparative cost Advantage Theory.

2) Opportunity cost Theory

3) Reciprocal Demand Theory

4) Product differentiation.

m-mwwnﬁam%:
D) Jeretreres s @t R

2) 3reE T RETd|

3) gfergzes AT RG]

4) 3cure fade|

Ques # :82

Suppose A and B are two trade Partner nations and the elasticity of nation B's offer curve is infinite, then
nation A will be :

1) Small

2) Large

3) Technologically advanced
4) Backward

ATAT A Ud B SATIR WgAN TS § 3 IS B & TEATEAT ash 1 ol 3HAd &, 7 TS A 89T :

Ques # :83

FDI inflow in India is entered in :
1) Credit Items of Current Account.
2) Debit Items of Current Account.
3) Credit Items of Capital Account.
4) Debit Items of Capital Account.
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HI # fagelt weget fAder & gt arer waTe 1 o R JraT §:
D) ey e & ST Fe 7 |
2) aTe] @TeY Y 0T G A |
3) ofr @reY i ST AT A |
4) i @rer T FoT HT |

Ques # :84

Factor income received from abroad is part of :
1) Trade account

2) Current account

3) Capital account

4) Service account

el & e e 3y REarad d
D) zgmar @ &1 |

2) e @ 7 |

3) gafr @ 7 |

4) gar @ & |

Ques # :85

The commodity or net barter terms of trade is defined as :
1) Price of exports/ Price of Imports

2) Price index of Exports/ Price Index of Imports

3) Price index of exports/ Price index of imports) X 100

4) All of these.

aeq a1 faer avg fafaea sara o g 1 9 §:

D frafat $r frera/3mardt & frea

2) fAriTelt T I Fehieh/ 3T T P FaHih

3) (et 1 A G/ AT T HHAT FIHH) X 100
4) za1ar & T

Ques # :86

Which of the following are true for Import Quota?
1) Import Quota is used to protect domestic Industry.
2) Import Quota is used to protect domestic agriculture.

3) Both (Import Quota is used to protect domestic Industry) and (Import Quota is used to protect domestic
agriculture) are true.

4) Import quota is used to oblige foreign companies

fassifera & ¥ FiaaT e 3mATa 3re7eT & AT aT 8?2

1) 3marer 3razier B 3T 1 TXATOT & & Fow et faam ST

2) 3T 373 TS iV T TIETT &l o I Gl b SiTetr &

3) Gt (3T 37921 T 3EATIT Y TXATOT &t o Tore Srgerel fomam ST &) 3R (3Tt 37972ier eXey
Y Y TRETOT &l & TNV TG vl fohalm STTelT §) e 8

4) smae reier fagelt waafaral 1 3ETaeTa e & ford sgart fomam ST §
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Ques # :87

Exception to the Stopler-Samuelson theorem is:
1) Leontief Paradox

2) Metzler Paradox

3) Baldwin's empirical study

4) None of these.

FACA-HF AR AT FT IHYATE o
D atére faremams

2) Fester faemare

3) aresfae &1 e srea

4) 5ot A 1S L

Ques # :88

Assertion(A) : Impostion of tariff creates dead weight loss or protection cost of tariff. Reason(R) : Tariff
redistributes income from domestic consumers to domestic producers of the commodity. Reason(S) : Tariff
redistributes income from Nation's abundant factor to the Nation's scarce factor.

1) All (A), (R) and (S) are correct and both (R) and (S) are correct explanation of (A).
2) All (A), (R) and (S) are correct but only (R) is the correct explanation of (A).

3) (A) is true but both (R) and (S) are false.

4) Both (R) and (S) are correct but (A) is false.

HRAFUA(A) : T[T I I g '35 AT A" AT HIETOT Y ART H o HIAT 8] FROI(R) :
W[ AT FT GATIATOT TG F B ST ITFar3il § TG & T ScATGHI HY 3R FIAT ¢ FROLS) :
YIeH AT FT TATAcaI{oT ISE & TETeT WA W IASE & Gel o7 el A A FIAT 2|

D @sfr (A), (R) wd () TcT & ar &t (R) T (S), (A) T TEY sarean |

2) |@#r (A), (R) TG (S) T § Ree] el (R) & (A) F T e |

3) (A) e ¥ g Al (R) TG (S) 10T §

) At (R) T (S) BT & T (A) T &)

Ques # :89

Growth rate of population means:

1) The difference of growth between male and female.

2) The difference in population between urban and rural area
3) The number of births per thousand people

4) The difference between birth and death rates.

FAHEAT HY I &I F7 374 B-

D i 7 939 & AL gy 7 3w

2) FraioT F e TAGEAT & HEY ]
3) ueh g 19N UX STeAT T TET

Y Aeg 7 T X F AW

Ques # :90

Which one indicator is currently not used in the Human Development Index?

1) Real GNP per capita

2) Employment Rates

3) Educational attainment

4) Life expectancy at birth
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ATTa fAFTH Gaaie # TeciATeT 7 Flaar g T2T 781 O Srar §
D) g caferd areafas gae TSET 3cu1g

2) YeR &t

3) Rre wifea

1) SoH & AT Sl T

Ques # 91

Micro banking is rooted from the philosophy of:
1) Mohammad Yunus

2) Manmohan Singh

3) Mahbub-ul-Haq

4) Amartya Sen

ATSFH-AFT F7 3T frads gofer ax amenRa &
D) fgrae Gk

2) FAetereet FoE

3) FFE-3eT-8h

4 3\ A

Ques # :92

In a free economy, inequalities of income are mainly due to?
1) Free trade policy

2) Private property and inheritance

3) Difference in the marginal productivity of labour

4) Private property only.

TS T I AT H, T A FWATAAS HEIHT & faar Hor gl &-
D) Fac samaR Afa

2) foysfy wafa 3R faRrad

3) s 1 WAl ScdTeehaT 3 3R

4) gl sl Fufea

Ques # :93

In Agriculture Agreement, WTO has classified subsidies as three boxes:
1) Yellow box, black box and green box

2) Amber box, red box and green box

3) Red box, green box, and Yellow box

4) Amber box, blue box and green box

fereaeaTaR Wereet o F¥ FASNA # ey 1 et oo aiFw F Feffea T -
D) dyarr sterg, el SfeT 94T 837 arFd

2) 3FeT Sierd, ofTel d1eFd T 847 i

3) Ter dfed, g7 SR T el dred

4) 31FeR Sierd, AelT Sierg TUT g g

Ques # :94

Cost Cascading effect of a tax is:
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1) Tax and subsidy coming together
2) Tax with exemption

3) Tax with investment

4) Tax on tax

T T AT HIEH TSI THTT §:
D) &2 7 3regeret @1 | e
) FTH AT I

3) A & Ty

4) FF IR

Ques # :95

The international institution dedicated to counter money laundering is:
1) Financial Stability Board

2) Financial Action Task Force(FATF)

3) International Centre for Settlement of Investment Disputes(ICSID)

4) UNCTAD

T U FT FEF(AAT A3 FIA F vl & AT rasdT Team g:
D) faecha ferar g

2) e FRIATEY FRIT (ThH.T.E.UH)

3) Jaursary Rder f[¥are ueRT Fg (e d.ug .38 8

4) 3iehers

Ques # :96

The Laffer curve as a tax policy instrument; advocates:

1) Optimization of tax revenues and minimization of tax rate
2) Optimization of tax rate and maximization of tax revenue

3) Minimization of tax rate and maximization of tax revenue
4) Maximization of tax rate and maximization of tax revenue

BT 9 T FT AT F TR F T F THTad FICT 8-

D) &Y TToTEa &7 JeTdeTaa 0T JAT Y & T 7T dHHT
Z)WaTa?raogegv\ﬁdH HIUT TAUT Y TSTEd T 3T FIOT
3) T &I T TYATHRIUT TUT T TG T HTARTH HI0T
4) Y eX T HTAFTH FUT JUT FT TTET T ITFIH FHI0T

Ques # :97

Consider the following statements: 1. Between 2001 and 2011, employment growth was lower than growth in
the labour force 2. Employment elasticity is a measure of how employment growth varies with the growth in
labour force. Which of the statements above is/are correct?

1) 1 Only

2) 2 Only

3) Both 1 and 2
4) Neither 1 nor 2

foreer Fyat W A AIFSA: 1. 2001 @ 2011 F FeT AR Y T sAerfda gig e @ wor o) 2.
AT wire ATt § B sereria # 3fg & @1 Ao gig 4 wRaffa el ) s d Fam e -
D &aer 1

2) &ael 2
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3) | gar2 gt
Dariar2

Ques # :98

Consider the following statements: 1. Agriculture and allied activities employ around 49% of India's total
workforce. 2. Agriculture sector accounts for around 14.4% of India's Gross Domestic Product. Which of the
statements above is/are correct?

1) 1 Only

2) 2 Only

3) Both 1 and 2
4) Neither 1 nor 2

fovest Fyat o R FFS: 1. F va weras BFaTd st Y For 4 AfFa F Tamsrar 49% Ht
U TETT Fll 8] 2. FI 81 T AR F Tl TS 3¢UTE A 14.4% ARG 8| TR YT T
3

D &aer 1

2) el 2

3) 1 a2 @t

Dariam2

Ques # :99

Unemployment Rate' is defined as

1) The number of persons unemployed as a proportion of labour force

2) The number of persons unemployed as a proportion of the working age population
3) The ratio of persons unemployed to those employed

4) Both (The number of persons unemployed as a proportion of labour force) and (The number of persons
unemployed as a proportion of the working age population)

SRYGTIITHY €T i TR -

D) a7 erfere 3 3te7rer 3 Forctat ofter SIS §

2) TS Y FAEEAT & HeTdTet 3 fohetay oreT AR g

3) AR Ted saferaat 3 SRASHIR cafFat s 317ard |

4) (s e 3 7T 3 TorceY AT AUTIR &) AT (IRl 31T STTEEAT & eqard 7 fohctay drer
SRISHIR &) al=il|

Ques # :100

Consider the following statements with regard to the findings of the recently released NSSO employment and
unemployment survey: 1. Self-employment is the major source of income for almost half the households, in
rural areas. 2. In urban areas, the proportion of households deriving major income from regular wage or
salary earnings is the highest Which of the statements above is/are correct?

1) 1 Only

2) 2 Only

3) Both 1 and 2
4) Neither 1 nor 2

gTeT 81 7 ST NSSO & USHIR F SRS WAeToT & forsersif & e W fovet Fyat ot e fifed-
1. FTHYOT 8T 3 FTSTaT 3T €Y F T FT HET TG FANGIR ) 2. Aed At F rafda Aeqdr
qel & 3T TSN FIA qTed ERY T HTITT HAFAHA 8| Flad FYT T 82

D &aer 1

2) &ael 2
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3) | gar2 gt
Dariar2

Ques # :101

The Economic Survey 2015-16 highlights India's potential growth rate of 8 to 10 percent. To achieve the same
it suggests a push in:

1) Promoting entrepreneurship and reducing the role of the state
2) Higher investments in health

3) Greater focus on agriculture

4) All of these.

rf&rs FHATOT 2015-16 F R Y 8-10 Ffrera Y & WIeT FIA Y 4THAT I YHIA STATTATE | 3
9T F & ol B gomma WA R |

1) 3eaffidr i SeTar o oT TR &1 {fHeT gerer

2) faferear 7 sifte faer

3) Y @1 3170 Ageea

4) ot & Tl

Ques # :102

Consider the following statements: 1. In the last two years, Indian services exports have been more affected
than Indian manufacturing exports. 2. Currently, India's services exports constitute about 6 percent of world
exports. Which of the statements above is/are correct?

1) 1 Only

2) 2 Only

3) Both 1 and 2
4) Neither 1 nor 2

far YA W AR AEA- 1. Ao ) auf & SR dar &7 F a9 ffFavr g & e a
3T TSI §U R 2. TAATT H 8T & Wam 43 forgialt =1 freq vl # e 6 widvera @) leran
FYT T &-

D) &raer 1

2) el 2

3) 1 gur2 et

Dariar2

Ques # :103

The Office of the Chief Economic Adviser in India compiles and releases the Index of Eight Core Industries.
Which of the folllowing is NOT one among the eight core industries?

1) Natural Gas
2) Cement

3) Steel

4) Iron Ore

HRA A AT INTF FAGHR FHATAT TS FR 3GANN F TAFIS F Thford HT AR HIaT §| =T
# @ BT 37 313 3ANT A A 7 B

D) grepfaes S

2) e

4) SeT 3TEH
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Ques # :104

Which wing of the NITI Aayog comprises of the Chief Ministers of all States and Lt.Governors of Union
Territories?

1) The full-time Organizational Framework
2) Team India Wing

3) The Consultancy Wing

4) The Governing Council

e s 1wl R @i voat & AEw AT FUT Hw R vt F Aftesd et #@
AT AT

D) quf srefiet Haraeress uva@r

2) & sfear fdar

3) shggedE faam

4) et afteg

Ques # :105

With reference to the case of kerosene in India, which of the following statements is/are correct? 1. Public
Distribution System(PDS) leakages increase with the size of PDS allocations. 2. For every 1% rise in a state's
income, total kerosene consumption of that state declines by less than 1% 3. PDS kerosene allocations
significantly exceed consumption in nearly every state Select the correct answer:

1)1,2and 3

2) 2 and 3 Only
3) I and 3 Only
4) 3 Only

T & A & I F st & A F 9 ol 91 FU7 7 B- 1. Adafas fFawor yome(d.dhow,) &
Rara 3. . 39ed F PR F T1Y 94 7] 2. TF T A T AF 1% 3T 961 T 39 AT Fl
A & e HT 3T 1% F FA g1 §] 3. FHT-FIT T3S T # NAvH. F AacA 3T F
3931 § 37 3| W 3ea” gfAw |

D1, 2qur3

2) shael 2 U1 3

3) &aer 1 @UT3

4) &gl 3

Ques # :106

The 'India Aspiration Fund' by Small Industries Development Bank of India is a fund:
1) That would invest in Venture Capital Funds

2) For meeting the equity requirement of Medium, Small and Micro Enterprises

3) That would invest in Research and Development at IITs.

4) For funding 'Innovative Startups'.

HICATT o AT fahre 3 ganr S fora o 33T viPaier %us' v IV &-
1) it s oft ffey 2 forder o

2) oY ATAH TAT GEH ICATHAT A1 3727 Yol P STl @1 9@ et o forw

3) 3% 3 & 3 ever T e A fAaer wyam

4) FTITAR TIE T Y HUg &t & T

Ques # :107
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Which of the following can be calssified as non-tariff barriers?
1) Quality standards on Information Technology products

2) Anti-dumping duty on steel

3) Complex regulatory environment

4) All of these.

foveet 3 & fordr AR R amemant o aefigper forvaa s wara & -
D) gzt aereliey 3eamat & aqurdedr ST

2) TErer R U8 PG 38

3) Sifeer fafaame araraRor

4) gt & oy

Ques # :108

MUDRA Banks will:

1) Primarily lend to SC/ST enterprises.

2) Provide finance to other banks and Micro Finance Institution who in turn will do the lending activities.
3) Set up a branch in every district of the country by 2019 in order to promote financial inclusion.

4) Primarily lend to enterprises being run by women.

ﬁﬁrﬂﬁ?ﬁ'ﬂ':-

D) e v & /ow & seafaat i wat &Y

2) 3= ot T e FcchT TEATHT T fed TegTa HiaT it 3T Fof et T BRI LA

3) @ 2019 T &2 3 T forer 3 Tk AT @ieidY 1 RAecT TATIRIT i ForaT 3T 57 T
4) FeTa: AR GaRT T ST aTer ST Y ot a7

Ques # :109

The quota that restricted trade in textiles was known as:
1) MFA

2) GATS

3) TRIMS

4) TRIPS

98 HIeT fHet FIST 3GANT AR &1 frd e foma :-
Dwr.ws.

2) drew

3) ferm

1 freg

Ques # :110

Development expenditure of the Central government does not include
1) Expenditure on economic services

2) Defence expenditure

3) Expenditure on social and community services

4) Grant to states

Fog TIHR &7 AHH T frga AT AdT Far g 2
D) 3 ganit weaw

2) Tem ey
3)
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AT T AT JaT3i HT 3T
4) =t I 3TeIcTel

Ques # :111

Which is the cause of growing urbanization in India?
1) Growth of industry and trade in the urban areas

2) Excessive pressure of population in rural areas

3) Low productivity in agriculture

4) All of these.

R A ged ATIRIUT HT FRTFATE 2

D) ergd a4t 31 3eer 7 R A afy

2) qrraor &35t 3 SrerdeEar @ 3ifaRed gara
3) Y F IedTaed!

1) s T el

Ques # :112

Which of the following measure is appropriate for correcting BOP scenario?
1) Currency revaluation

2) Expansionary monetary policy

3) Currency devaluation

4) Contractionary fiscal policy

$TITCATeT WJeleT HTCT Y HEY XA g foldT A | PleT AT 3T 3YYFA ¢ ?
) o gt

?) faear AjaT Afa

3) FgT JraFEa

4) wgfaa Tereni hifa

Ques # :113

In Leontief Paradox, the results obtained in the context of Heckscher-Ohlin theory showed that:
1) U.S. exports were 30 percent more capital intensive than U.S import-sustitutes

2) U.S. import-substitutes were 30 percent more capital intensive than U.S exports.

3) U.S. exports were 20 percent more capital intensive than U.S import-sustitutes

4) U.S. import-substitutes were 15 percent more capital intensive than U.S exports.

v JitefeeT Rigrar # gree aRome & west #, fediis Rdumma qamar e f
D) 3rafant & foraiTer e - faeamaet Y Jefett 31 30 wfaerd 3ifees oi ageT &
2) 3R &7 31T - TaEuTe et i g # 30 ufaerd 3ifas Gt T &
3) 3T & foraTe 31T - fareaey & gere # 20 wfaerd 31t Yot g &
%) 3Afet &7 e - fareaTae Tt &7 ot # 15 wfererd M o aeet &

Ques # :114

South-South co-operation means:

1) Increasing diplomatic realtions among emerging economies

2) Rising trade between countries

3) The flow of resources from one developing country to another
4) Increasing investment between developing countries
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Sfaror - efyor AgAIT FT T ¥ -

D) 39 srdfegaeansit & T tie et gare

2) it & HEg SATIR FereT

3) uh Taepraeier 2T & gEr AshreieT & T ATeT T JaTg
) ferraefier g2t & FET AT somE

Ques # :115

Which of the following is not granted the Maharatna status by the Union Government of India?
1) BSNL
2) ONGC
3) NTPC
4) BHEL

AT Y Fg TIHR A e 7 A fFd AR F71 €& YT g1 fhrar g 2
1) BSNL
2) ONGC
3) NTPC
4) BHEL

Ques # :116

As per the Budget proposals for 2016-17, what per cent Krishi Kalyan Cess will be levied on all services?
1) 0.25%
2) 0.50%
3) 0.75%
4) 0.10%

qITC AT 2016 - 17 ¥ 3TAR, F Fearor A7 woft Famait ox fraar wferere sremam smam 2
1) 0.25%
2) 0.50%
3) 0.75%
4) 0.10%

Ques # :117

The government has released a new four -colour classification scheme for industries based on their pollution
potential. Which is NOT correct in this regard?

1) Moderately polluting - orange category
2) Not polluting - white category

3) Most polluting - red category

4) Moderately polluting - black category

FIHR A 3NN Y TGHOT 41T F AR G THT0T Flat & ford 51t IR - Lot Y Fafien<or Asrar
S A Y | 57 gFay A Flaar AR AT -

D) FAroeh gemorendY - Aref Aofr

2) IR seuUTEHIY - e Aot

3) Ty 3170 TETUThRY - FTer Aot

4) AT FEWOTHRY - Hrelr Suft

Ques # :118

Which one of the following factor establishes tha imporatnce of agriculture in the national economy of India?
1) Higher per capita income of the people of the country.
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2) Higher share of agriculture sector in the GDP of the country.
3) Higher share of industrial sector in the GDP of the country.
4) Higher percentage of agriculture dependent population in the country.

T & @ FiaT deq 5RA A T rdfcyaedr # $N & Ageea F FRT FIAT -
1) &er & oiett dr 3= ufay cafed am

2) Zer Y S Y oY 7 Y 877 ot S e

3) gor & 57 2y oY 3 ST 87 1 Fr e

4) a1 7 FY W AR ST 1 Far gfawd

Ques # :119

In Cobb — Douglas production function g=AL *KF,
the share of labourin total output shouldbe :

D (a+B)qg

2) o+p
3) Pa
4) o

Hid - ST Icdiee ®eel q = AL “KP & &er scuree

H HH &1 §Tar giar =gy -
1) (a+B)a

2) o+

3) Pa

4) g

Ques # :120

The two regression lines will be at right angles in case of two variables if:
Dr=0

2)r=+1

Dr=-1

4) r is either +1 or -1

&l TR & FIY H Y Y19« J@ GHABIT 9T g19iY Ife :-

Hr=0
2)r=-+1
Ir=-1

Dararr+13ar-1

Ques # :121

The calculated value of F-test will always be:
1)<l

2)>1

3)1

4) None of these

F - S¥C T I0TAT F HET HT AT 81917 :-
<1

2)>1

3) 1

) gt & 8
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Ques # :122

If a hypothesis is not rejected at 10% level of significance, it:
1) Must be rejecting at 5% level of significance

2) May be rejecting at 5% level of significance

3) Will not be rejected at 5% level of significance

4) Must be rejecting at 2.5% level of significance

I T IREFETAT 10 % FTAFAT T 9 HENFR 7¢I & ar e -
1) 5 9, Areiepdr TR W 3R 3127 gl

2) 5 % AT TAX U EATHR &1 Fehell &

3) 5 %% HTYeRdT T I IEATRR 8T g1l

4) 2.5 % AT TR W TR 3G gl

Ques # :123

Stratified sample is preferred where-

1) The polulation is perfectly homogeneous
2) The population is not homogeneous

3) Random sampling is not possible

4) Small samples are required

T ufdeel Y wwig v S &, et -
1)WWW%

2) STEEAT Gl 78T §

3) aefeesw ufaaaa aFsa e &

1) e ufaeer T 3maegFarg

Ques # :124

Assertion(A): Devaluation can correct imbalance in the balance of payment. Reason ( R ): Devaluation raises
the price of imported goods and reduces the foreign price of exports of the devaluating country.

1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.
3) A is true, but R is false.

4) A is false, but R is true

fraT(A): IraAEae SaTaTeT HereT H Aol S1 FT Hehdll ¢| FYA(R): G e AT a3t
FY AT TGTT § YT IHTHeA A T 3 F et F Ret # Forg gerar

D) (A) 2T (R) 1 e & TUT (R), (A) T TEY TTSERIOT &

2) (A) AT (R) @it e § T (R), (A) FT TE T 8T §

3) (A) BT § e (R) T &

Y (A) T § e (R) T E

Ques # :125
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Match the following :
List-I
A_Cannons oftaxation
B. Cannons of public expenditure
C. Effective incidence oftax

D. Benefit approach of public expenditure
1) A-2,B-3,C-1,D-4
2) A-1,B-2, C-3,D-4
3) A-2, B-3, C-4, D-1
4) A-4, B-1, C-2, D-3

o= &1 e

College Lecturer Exam - Economics-II

List -II

1. U K Hicks

2. Adam Smith

3. Findlay Shirras
4. Erik Lindahl

Sall -

A X =1 Read 1. 9.5, B
B. waafds &g & Reand 2. usH TEA™

C. 9HTET i 3 Theer faraT

D waafas &g & o Regid 4 tRa s

1)  A-2,B-3,C-1,D-4
2)  A-1,B-2,C-3,D-4
3)  A-2,B-3,C-4,D-1
4)  A-4,B-1,C-2,D-3

Ques # :126

Assertion (A) : Balance of current account is a flow concept. Reason ( R) : Balance of capital account is a

change in stock concept.

1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not the correct explanation of A.

3) A is true, but R is false.
4) A is false, but R is true

fSRAT(A) : TITe] W FT HJAT UF FaTE HTUROM ) FROT(R) : Yot Wt HT HJelel U FIh FALTOMT

H qRade ]

1) A JUTR ST T & TUTR, A &7 TEY TASEHIOT |
2) A AT R QAT 6 § o] R, A T T TTSEHIT TG 8]

3) A BT § We R AT g
) A T § e R T

Ques # :127

Public goods are:

1) Goods for which the public must pay
2) Exclusion is not possible

3) More costly than a private good.

4) None of these.

D) 3 aequ foretss forw STetet 1 87aTelret et a1

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/96-Economics-Il/sesspack/gpimages/QP_96-Economics-I1l.html

38/45



28/06/2016 College Lecturer Exam - Economics-II
2) Tt 3Tqgoiel H3d AT &
3) foraft a3t & 3iferes wgeh
4) g1 @ IS A8

Ques # :128

Assertion (A) : A progressive income tax is based on equi-marginal sacrifice. Reason ( R) : Higher the
income, lower will be the marginal utility of money for the tax payer.

1) Both A and R are true and R is the correct explanation of A.

2) Both A and R are true but R is not the correct explanation of A.
3) A is true, but R is false.

4) A is false, but R is true

FE1(A) : T yerfaelie FF gH-HAea mer 93 3| §) FROI(R): FT a1 & e g afw g
TR FET T HiATeT TR H g

1) A GUTR 15T GcT & TAUTR, A T FET TTSEHIOT B

2) A AT R Bl T § TRe] R, A FT HEY TISETRIT AL B

3) A BT § Weg R I &

Y A T § W R T

Ques # :129

To reduce the rate of inflation, the government should
1) Increase public expenditure

2) Encourage consumer spending

3) Increase income tax

4) Reduce interest rate

HeT TR Y e TR & fAT FIHR $Y FT FI4T AMeT?
D) grdeiae eaar seer aifgd

2) 39T T Y ST AR

3) 3y T SeleTT AR

4) ST e TeTAT ATt

Ques # :130

An income tax is considered automatic stabilizer:

1) Tax revenues change with the level of income.

2) Income levels changes with tax revenues

3) Interest rates changes with level of income.

4) Tax revenues remain unchanged with change in level of income.

T FT I T TqAIfad YA HATAT ST § Fi -

D 37 & TR & a1y e o H gRadT glar g

2) & TTET H IRAdT & TT 3T & T A IRadT giar e

3) 31 TR # IRESH & A1 ST o F aRadT g

4) 3 TR 3 aRaSH F A F IMTH F FS TRt FTET 8rar )

Ques # :131
Which of the following is not an item of transfer payment?
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1) Pension

2) Scholarship
3) Dividend
4) Subsidy

foreer 3 & et 3raROT SpTCATeT 1 7S G -
1) oy

Ques # :132

The Principle of maximum social advantage was propounded by:
1) Lindal

2) Wagner

3) Musgrave

4) Dalton

fFad FrAfSTF a1 F1 g fvas e 2
D) fusrer

2) IR

3) FEdg

4) srecsT

Ques # :133

Tax based on specific attributes of good like weight, size or volume is called as:
1) Specific tax

2) Advalorem tax

3) Gift tax

4) None of these.

St T relt o Ry & ot S 9R, SR AT ATAT O SR gl § 39 Fed ¥
D fafarss &

2 AR

3) 3uER &

Y gerdr A S e

Ques # :134

A Payment for the service rendered by the state is called as:
1) Prices

2) Fines

3) Fees

4) Special assessment

T EaRT & It Fanat & forw R arw sparaer 1 FEq 8-
D e

2) Sgefiem

3) drg

4) T3 3MTeheteT
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Ques # :135

The incidence of import duties will be on:
1) Consumers

2) Producers

3) Both Producers and Consumers

4) None of these

AT Y HT FIUTT fhE T X
D) susiteramst o

2) 3cTeeht W

3) (3usierar3i) T (3cargent) et W
4) 5ot A 1S L

Ques # :136

Theorem that states free trade leads to an increase in the income of nation's abundant factor is:
1) Stopler-Samuelson theorem

2) Metzler Theorem

3) Rybczynski theorem

4) Ricardian theorem

fRrgia it I FaTaT § fF Faas SATIR & 2 3 T ATET & ST e 1 377 Fgai-
D ¥ereer - deerast fagid

?) Freer fagtd

3) e fagia

4) Repref @t faegia

Ques # :137

Necessary condition for the validity of Hecksher-Ohlin model:
1) Factor intensity reversal

2) Similar factor endowment in two nations

3) Strong factor intensity

4) Single factor of production

SFaR-aefae e Y degar A 3maeTs od B-
D) @rerer derar scheor

2) @Y &2l 7 GHTT AT SeraEdr

3) gaATe Arere g

4) It T ST GTerT

Ques # :138

The occasional sale of a commodity at a lower price abroad than domestically is:
1) Predatory dumping

2) Persistent dumping

3) Sporadic dumping

4) Prohibitive dumping

forelt aeq A Foft-Folt o] SR Y Foraw # fadelt a9 F FH FrAT W =T Fgarar 8-
D) oarefr sffar
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2) gaq s
3) facer ST
1) A ST

Ques # :139

Which of the following does not pertain to the partial equilibrium effect of tariff:
1) Trade diversion effect

2) Redistributive effect

3) Consumption effect

4) Revenue effect

T 3 @ Pl weew & RIS Agas goa & Feafta a8t -
1) samar #Ys werma

2) geafdaror yama

3) Fusiter werra

4) TreTEa T

Ques # :140

Which of the following is considered a capital inflow in BOP:
1) A sale of Indian financial assets to a foreign buyer

2) A loan from an Indian bank to foreign borrower

3) A purchase of foreign financial assets by an Indian buyer

4) An Indian citizen's repayment of a loan from a foreign bank

foresr & & R sgaraiTet Wforet & Yl WaTg STt SiTel 82

D) e faech aftesafaat s famet faeel shar &t e

2) ve AR S & farelt faereft 3em ol a1 7oT

3) e AR el &anT forel fag el e afaerafea i @l
4) v AR AR gaRT g2l S & forw 1w o7 7 S7araTet ateT

Ques # :141

Formation of customs union may lead to:

1) Increase in the welfare

2) Decrease in the welfare

3) Both (Increase in the welfare) and (Decrease in the welfare)
4) Neither (Increase in the welfare) nor (Decrease in the welfare)

FECH AT T § o= gt AT -

D seamor 7 9fg

2) spogror 3 Y

3) (@t # 3fE) T (Fearor 7 HA) Qe
4) &1 (Fearor 7 ) AT & (Fearor F FHa)

Ques # :142

If a nation terms of trade is 2, its trade partners terms of trade will be:
1) 2
2) 4
3) 12
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4) 8

e fFrdY &er Y AR Y eref(@ T 3w 23) 2 & df su aredY A 321 F AT AR i o gei-
1) 2
2) 4
3) 12
4) 8

Ques # :143

Prebisch-Singer hypothesis is associated with:
1) Export instability

2) Complementary trade theory

3) Strategic trade policy

4) Deteriorating terms of trade

Rfr-RTR IRF T FT graey fFaa &-
D oo sferar &

2) e TR fagia &

3) s SR A @

4) fersdy SaaR & eraf &

Ques # :144

The tariff calculated on the domestic value added in the production of a commodity is:
1) Optimum tariff

2) Specific tariff

3) Restrictive tariff

4) Rate of effective protection

forelt 9% & TG H 3HF T NS T Hed I T T IVTAT F Fgdl o-
D) stregaeras weres

2) faferse sefeen

3) gfsiers Teeeh

4) gramrdy weToT Hr aX

Ques # :145

Demographic dividend refers to:

1) Dividend distributed by corporations among share holders
2) Large proportion of persons below 15 years of age.

3) Large proprotion of persons in the age group 15-59.

4) Very high proportion of dependents in the population.

STTI{RehT TSI FT TAS &

D) srrafarat gar 3rae Q) enfiat Y faaRa foram aram emerrer
2) 15 9 § e 317 aTer cAfFaT T T3T T

3) 15-59 % Y a7 3 At 7 qST AT

4) SrerdEan 3nfAdt @ wrh 31 egara

Ques # :146

primary focus of food security in India is on:
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1) Procurement of food grains from farmers at support prices

2) Public distribution of foodgrains among poor households.

3) Public distribution of food grains among holders of ration cards
4) Supply of essential consumer goods at fair parice shops.

HRT H Wy &t FT YA+ iy v W e:

D) gaeier frat X framet & Tregre=t & @l

2) foreieT aRaRT & I WieATe=it T ATdsTiaeh IR
3) 21T IS UReRT & I WiehTe=it T Ao AaRoT]
4) razae et 3RS Hed H gt R HF|

Ques # :147

Chakravyuh of Indian economy indicates that

1) Enrty of entrepreneurs in business is hazardous

2) Exit of businessmen from business is extremely difficult
3) Bankers put hurdles in recovering loans.

4) Diversion from business is difficult.

SRR 374 SqaET & Tohedg F1 aread T ¥

D) coqamer 3 3eafEat a1 gaer aremqet §)

2) ey A 3eafaat Fr sl s wid 8|
3) ep FOT B R 3 AT Fetoot Y

4) sgaare 7 aRad= Hiea |

Ques # :148

Udyog Aadhar Memorandum(UAM) Scheme 2015 is a step to promote
1) Ease of doing business for MSMEs in India

2) Make in India initiative in the country

3) Develop large scale industries in India

4) Promote Foreign Direct Investment in India.

2015 3T ITUR AANESH A7 I GicdTge o1 1 e # vF FeA §:
D uA.va.wA.$ & foT caasmr & G Sren

2) gar 3 Ao o7 STeaT v 3 HETIaT |
3)aqn;rﬁa§3aja1?ﬁ$rﬁwm|

4) R #F ycaeT RGN A Fr dicarg &

Ques # :149

Which of the following ministerial conference of WTQO was held for the first time in an African country?
1) Seventh

2) Eighth

3) Ninth

4) Tenth

mammaﬁﬁ-wmméﬁqﬁﬁmﬁmﬁmwﬁgzﬁ?
D) gree

2) 3madt

3)

4) eyt
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Ques # :150

Which of the following trade aggrement is non-discriminating and aims for deepening global trade and
development?

1) Multinational trade agreements.

2) Regional trade agreements

3) Preferential trade agreements

4) Bilateral trade agreements

=T & T i I1 AR gASAr Aesa Wea § aur Sraer 3327 e R aur R+ Fi Tga
HIATR?

D) sguatier samar et

2) gy AR St

3) grafAedTgeFd AR FHSdT

Y efaaatrer s wEgan
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